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PRACTICE PASSAGE AND POEM

Q.1 | Read the passage and answer the questions.

An owl is a bird. There are two basic types of owls: typical owls and bam owls. Owls live in almost
every country of the world. Owls are mostly nocturnal, meaning they are awake at night. Owls are
predators—they hunt the food that they eat. Owls hunt for mice and other small mammals, insects
and even fish. Owls are well adapted for hunting. Their soft, fluffy feathers make their flight nearly
silent. They have very good hearing which helps them to hunt well in the darkness. The sharp
hooked beaks and claws of the owl makes it very easy to tear apart their prey quickly, although
owls also eat some prey whole.
Owl’s eyes are unusual. Like most predators, both the eyes of the owl face front. The owl cannot
move its eyes. Owls are far—sighted, which means they can see very well far away.......... but
they can’t see dose very well at all. Fortunately, their distant vision is what they use for hunting and
they can see far away even in low light. Owls have facial disks around their eyes, tufts of feathers
in a circle around each eye. These facial disks are thought to help the Owl’s hearing. Owls can turn
their heads 180 degrees. This makes it look like they might be able to turn their heads all the way
around, but 180 degrees is all the owl needs to see what’s going on all around its. Perhaps because
of the Owl’s mysterious appearance, especially its round eyes and flexible neck, there are a lot of
myths and superstitions about owls. Many cultures believe that owls are unusually wise. Because
owls are nocturnal, some cultures associate owls with bad omens. The screech of the bam owl is
considered by many to sound eerily human, like a person screaming. However, owls probably do
not interact with the fates of humans at all. In fact, some owl species may become extinct because
of humans.

A | Which of the following is not true about owls?
(a) Owls eat small animals (b) Owls are able to fly silently
(c) Owls have the best hearing of all birds (d) Owls have poor vision

B The purpose of this short article is................
(a) to entertain (b) to inform (c) to persuade (d) none of these

C Whose eyes are unusual? How?
Find the word from the above passage which mean the same-

(a) awake and active at night and asleep during the day
(b) a widely held but irrational belief in supernatural influences, especially as leading to good
or bad luck, or a practice based on such a belief.
Q.2 | Read the poem and answer the questions.

I lay in sorrow, in deep distress;
My grief a proud man heard;
His looks were cold, he gave me gold,
But not a kindly word.
My sorrow passed—I paid him back
The gold he gave to me;
Then stood erect and spoke my thanks
And blessed his charity
I lay in want and grief and pain;
A poor man passed my way,
He bound my head, he gave me bread
He watched me night and day
How shall I pay him back again
For all he did to me ?
Oh, gold is great, but greater far Is heavenly sympathy.
Questions

A | How did the proud man help the poet when he was in deep distress?
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(a) He gave him jewels. (c) He gave some money.
(b) He took him home. (d) He pitied the poet.

How did the poor man take care of the poet:

(a) The poor man gave him some food and money

(b) The poor man gave him good and kind words

(c) The poor man gave him food and took care of him day and night
(d) He took the poet home and bound his head which was hurt

Give a suitable title to the poem.
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Find the words from the above poem which mean the same.
The state of being very upset or of suffering great pain or difficult

WRITING SKILLS

Q3

Your school Adarsh International School, Noida, is going to organize a Dusshera Fair. Design a
poster to inform the students about various activities connected with it.

Q4

Your school, Tagore International School, Surat needs an assistant manager. On behalf of the
Principal, write an advertisement in about 50 words to be published in the classified columns of a
local daily. Mention the educational and professional qualification, other qualities required in the
assistant manager, who to apply to and the last date for the receipt of applications.

GRAMMAR

Q.6

Do as directed.

Laughing is the best medicine to decrease stress.( (Identify highlighted verb Gerund or
Participle)
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They (do)a project when I called them. (Apply the verb given in the bracket using the
correct tense: Simple past or Past perfect tense)

He is a successful engineer. (Identify the verb: Transitive / Intransitive / Linking)

My uncle a meeting after one hour. (Apply an appropriate semi-modal)

This book is mine. (Convert the possessive pronoun into possessive adjective)

You may complete your project by the Monday. (Identify the error and rewrite the sentence)
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Tell me I can find the book. (Apply a suitable relative adverb as per your
understanding.)

He has water in his bottle than me. (Fill in the blank with an appropriate word of
comparative degree)

Complete your work Monday positively. (Fill in the blank with a suitable preposition)

He doesn’t like to go anywhere except his workplace. (Find out the infinitive in the sentence)

LITERATURE

Q.7

Read the following passages carefully and answer the questions carefully.

In the beginning, when the world was new and the Animals were just beginning to work for Man,
there was a Camel, and he lived in the middle of a Howling Desert because he did not want to
work. He ate sticks and thorns and prickles, and when anybody spoke to him he said “Humph!”
Just “Humph!” and no more. Presently the Horse came to him on Monday morning, with a saddle
on his back and said, “Camel, O Camel, come out and trot like the rest of us.

Questions

What does the camel dwell?

How did he use to feed himself ?

On which day horse met to him?

What did the horse say to the camel?

Name the lesson.

Write the another word (synonym) of the following.
a) Glumly b) Quoth c¢) Subdue d) Chaos e) Surge f) delineated

Very Short Answer

A task was given to the horse. Write about that work.

What inspired Ram Mohan Roy to travel England?

What could Velu make out of the signboards? What was the importance of signboard

What was the working place of Ingenious?
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Short Answer Questions.




Giant was known to be the selfish person. Explain in your own words.

Do you think the Indian princes were short-sighted in their approach to the event of 17577

In what manner the East India Company subdue the Indian princes?
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What was the reason behind the hesitation of Bepin to visit at Mr. Mukerji? How did he decided to
phone him?

1

Long Answer Questions

Describe the central idea of the poem ‘The Geography Lesson’.
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The author describes Bepin Babu as a serious and hardworking man? What evidence can you find
in the story to support this?

How changes occurred in the life of giant? What was the reason behind it?

Describe the journey of Raja Ram Mohan Roy in your own words.

2

High order thinking questions
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Do you think that a society should always resist change or reform in order to preserve its traditional
values?

The selfish giant was very narrow minded and strict. Later his heart melted. How did it happen?
Write the moral of the story in your own words.
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Mathematics
1 Simply: _?5 + (g)
2 Find:z X (_?5)
3| The sum of two rational numbers is -2. If one of them is — ﬁnd other.
4 Thesumof1+3+5+7+9+11+13+15+17+19+21+23— ...........
5 49 is the sum of n odd natural numbers, whatnis=............
6 | Find the smallest number by which 2904 must be divided to get a perfect square.
7 | Find the smallest number by which 1620 must be multiplied to get a perfect square
8 Express 121 as a sum of 11 odd numbers.
9 Find the square of the following numbers without multiplication.
(i) 39 (if) 42

10 | Write the Pythagorean triplet whose smallest number is 12.




11

Find the least number that must be subtracted from 5607 so as to get perfect square. Also find the square root of the
perfect square.

12

Find the least number that must be added to 1300 so as to get a perfect square. Also find the square root of the
perfect square.

13

Write the additive inverse of the following. (i) I—; (i1) %

14

) . 3 3
Find ten rational numbers between A andz.

15

m—1 m—2
Solve:m—T= 1_T

16

If 13 is subtracted from twice a number, the result is 19. Find the number.

17

Find the number such that if 8 is subtracted from 9 times the number. The result is more than 6 twice the
number.

18

The sum of two numbers is 48. The bigger number exceeds the smaller number by 26. Find the numbers.

19

Prince makes a poster in the shape of a parallelogram PQRS on the topic SAVE ELECTRICITY for an
inter school competition.

if angle P = (2x + 3)" and angle S = (3x — 3)°, find the measure of angle B
a) 83° b) 97° 0) 76° d) 43°

If angle Q = (2y)°and S = (3y — 6)°, then find the value of y.
2) 3 b) 2 06 d) 6

If PQ = (2y — 3) cm and RS = 5 cm, then what is the value of y?
a) 4 b) 5 c)3 d)9

20

Draw a bar graph to represent given information.
Children who prefer Section A Section B Section C Section-D
Walking 40 55 15 60

21

When a die is thrown, find the probability of an event:
a) a prime number b) a composite number c¢) a number greater than 5

22

Find the cube root of 8000.

Find the cube of the following numbers without multiplying directly.
i) 15 i) 12

23

Assertion (A) — % of 2 is a rational number

Reason (R) — a rational number is a type of real numbers, which is in the form of p/gq where q is not equal to zero
a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A

c) Alis true but R is false

d) Ais false but R is true

24

. Assertion (A) — 0 is not a rational number

Reason (R) — a rational number is a type of real numbers, which is in the form of p/q where q is not equal to zero.
a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A

c) Alis true but R is false

d) Ais false but R is true

25

Assertion (A) — The solution of the equation 5/x = 2 is 2/5.
Reason (R) — The value of the variable which makes left hand side equal to right hand side in the given equation is
called the solution of the equation

26

Assertion (A) — The value of ‘ y’ in the equation 3y + 4 =5y —4is 4
Reason (R) — The value of the variable which makes left hand side equal to right hand side in the given equation is
called the solution of the equation

27

Assertion: Diagonals of a rhombus bisect each other.
Reason: Even rhombus is a parallelogram and diagonals of parallelogram bisect each other.

28

Assertion: The adjacent angles in a parallelogram are supplementary.
Reason: In a parallelogram the adjacent angles are always equal

29

Assertion: The measure of each angle of a regular hexagon is 120°
Reason: Sum of all interior angles of a polygon of n sides is (n-2) right angles.




30

If a coin is flipped in the air, what is the probability of getting a tail?

a)o0 b) 1/2 c1 d)2
31 | Abaghas 4 red balls and 4 green balls, what is the probability of getting a red ball randomly?
a)1/4 b) 1/8 c)1/2 d)o
Science
Q1. | 1) Which of these does not prevent growth of bacteria?
(a) salt (b) oil (c) sugar (d) water
i1) Coal is formed from the remains of
(a) vegetation only (b) animals only
(c) both vegetation and animals (d) neither vegetation nor animals
ii1) The science which deals with the breeding, feeding and caring of domestic animals is called-
(a) animal husbandry (b) breeding
(c) both of these (d) none of these
iv) Scientist who discovered Bacteria that causes anthrax disease was-
(a) Alexander Fleming (b) Robert Koch
(c) Johann Mendel (d) Charles Darwin
V) was who discovered fermentation.
(a) Alexander Fleming (b) Louis Pasteur
(c) Johann Mendel (d) Charles Darwin
vi) Which of the following contains un-burnt wax vapours as no combustion occurs here because of
lack of oxygen?
(a) Outermost zone  (b) Middle zone (c) Innermost zone (d) Both (a) and (b)
vii) is a liquid fossil fuel.
(a) Natural gas (b) Wood (c) Petroleum (d) Coal
viii) The smallest microorganisms are
(a) Bacteria (b) Viruses (c) Algae (d) Fungi
1x) The method of irrigation best suited for water-deficient areas is
(a) Tubewell (b) Moat (c) Drip System (d) Sprinkler System
x) Which of the following causes acid rain?
(a) Carbon dioxide (b) Carbon monoxide
(c) Sulphur trioxide (d) Oxides of sulphur and nitrogen
Q2 | What do you mean by following:
1) Bacteria i1) Food poisoning ii1) Fossil fuel iv) Nitrogen fixation
Q3 | Define:
1) Vaccine i1) Antibiotics i11) Combustion iv) Friction
Q4 | Complete the following table:
Type of fire extinguisher Cause of fire
i) Water or water mist or water spray fire extinguisher
ii) Foam fire extinguisher
iii) Dry Powder fire extinguisher
iv) CO;, fire extinguisher
v) Wet chemical (Soda-Acid) fire extinguisher
QS5 | Write any four ways by which we can Increase and decrease friction.
Q6 | What are carriers? Write any two example with the name of diseased caused by them.
Q7 | Label the various components in the following figures:
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Fractional Distillation of Petroleum

Q8 | Draw the triangle of factors of combustion.

Q9 | What is meant by ignition temperature?

Q10 | What are pathogens?

Social studies

Ch 5.WHEN PEOPLE REBEL

Q. CHOOSE THE CORRECT OPTION:

(i) The new law passed in 1850 made
(@) conversion into Christianity easier
(b) people of India Christians

(c) the life of the Indians difficult

(d) none of the above

(ii) The Revolt of 1857 began from:
(@ Lucknow




(b) Kanpur
(c) Awadh
(d) Meerut

(iii) Mangal Pandey, a young soldier, was hanged to death for
(@) killing an Englishman

(b) attacking his officers in Barrackpore

(c) telling lies

(d) attacking English factories

(iv) The Mughal emperor Bahadur Shah Zafar died in-

(@) the Rangoon jail

(b) the Royal palace

(c) the Mosque

(d) the Audience Hall

(V) The British regained control of the country in the year
(a) 1857
(b) 1858
(c) 1859
(d) 1860
Q. FILL IN THE BLANKS
1. In the countryside peasants and zamindars resented the............cccccoovvrieriiiniciisiennns and the rigid
methods of collection.

2. The British passed laws to stop the practice of............cccvvveiiiiiiiiniinienenn and to encourage the
............... of widows.
3. fought a guerrilla war against British with the support of many tribal and peasant leaders.

4. asoldier from Bareilly was a key military leader of the rebellion.

5. The was the personal representative of the crown.

Q. SHORT ANSWERS
1. Who was the last Peshwa?
2. Who led the revolt in Kanpur?
3. Who was the leader of the mutiny as proclaimed by the sepoys?
4. Who was the son of Nawab Wajid Ali Shah?
5. Under what pretext did the British annex Awadh?
6. When was Mangal Pandey hanged to death and why?
7. What rumour spread among the sepoys of the Meerut regiment about the new cartridges?
8. What is mutiny?
9. Who was the Begum Hazrat Mahal? What was her role in the 1857 rebellion?
10. What objections did the sepoys have to the new cartridges that they were asked to use?

Q. ASSERTION REASON TYPE QUESTIONS
1) Assertion (A) Several armed revolts took place after 1857
Reason (R) It was a protest against the deliberate policy of the British to create a rift between the Hindus and
the Muslims
a) Both A and R are true and R is correct explanation of A
b) Both A and R are true but R is not correct explanation of A
€) Adistrue, but R is false
d) Ais false, but R is true

2) Assertion (A) after the Revolt of 1857 in India the British recruited the soldiers in the British
Indian Army from Punjab Gurkha and Pathan communities on large scale and declared them as
martial communities

Reason (R) The soldiers from these communities staunchly secured the British interest outside India on



Large Scale
a) Both A and R are true and R is correct explanation of A
b) Both A and R are true but R is not correct explanation of A
C) Ais true, but Ris false
d) Ais false, but R is true

Q. MAP WORK

Locate the following places on the outline map of India

1) Delhi

2) Meerut

3) Bareilley

4) Lucknow

5) Jhansi

6) Kanpur

7) Faizabad

CIVICS LESSON-3
WHY DO WE NEED APARLIAMENT

Q1 EVM’s were used throughout the country for the first time in the general electionsheld
0

Q2. The parliament of India is also knownas .........................

Q3. The total membership of Rajya Sabha is.........cccccoovviiiininiiicc

Q4.The Lok Sabha is presided over bythe ...................ooiiinl.

Q5.The Supreme law making institution IS the ............ccocveveiiieiciciee,

Q6.The executive is a group of persons who together implement theLaws made by the

Q7. The prime minister of India is the.................. of the ruling party in the Lok Sabha.
Q8.The is the presiding officer of the Lok sabha.

Q9. The members of the Rajya Sabha are elected for the term of ------------- years.

Q10. The parliament of India consists of the two houses ................... and the Rajya Sabha.
Q11. The-------- is a permanent body, as it is never dissolved.

Q12. When the Parliament is in the session, it beginswitha ................... .

Q13. The President of India nominates............cccocveverunee. members of the Rajya Sabha.
Q14.The........... Parties play a crucial role in the healthy functioning of a democracy.
Q15.Write full form of EVM..

Q16. Define the term ----------- Coalition government

Q 17 . Do you know: ---
A. President of India
B. Prime minister of India
C. Vice president of India
D. Speaker of Lok Sabha
Q18. Differentiate between-

1. Lok Sabha and Rajya Sabha

2. Direct and Indirect Democracy
Q 19. Write a note on —

1. President

2. Prime Minister

3. Parliament



Ch. 4. Tribals ,dikus and the vision of golden era.

1.Match the following :

Column A Column B
1. Bodos a. Central India
2. Nagas b. Asam
3. Baigas c. Jharkhand
4. Mundas d. Punjab
5. Gujjars e. Nagaland
2.
Column A Column B
. Bewar a. Land belongs to the clan as a whole
2. The Mundas of Chottanagpur b. Extracted oils from the seeds of the sal
and mahua
3. Santhals and Oraons c. Aterm used in Madhya Pradesh
4. The Konds d. Followers of Birsa Munda

2. One Word Answers:

1. ltis below the dignity of a -------- to become a laborers.

2. Tribals were recruited in large numbers to work in the ------------ of Assam and the ----------
of Jharkhand.

3. The local weavers and leather workers turned to the Konds when they needed supplies of
and flowers to colour their clothes and leather.

4, The ------- of Andhra Pradesh were cattle herders, The Bakharwals of---------- reared goats.

3. Multiple Choice Questions:

1. British official saw these settled tribal groups as more civilised than hunter- gatherers.
a) Gonds
b) Santhals
c) Konds
d) Bothaandb

2. The British wanted tribal groups to settle down and become.
a) Miners
b) Tea Planters

c) Peasant cultivators
d) Herders

3. The revolt of Songram Sangama in 1906 in Assam was.
a) Against the money Lenders and traders

b) Against the colonial forest laws

c) Against the tribal chief
d) Against the owners of tea plantation

4. Hazaribagh, in present-day Jharkhand, was an area where the Santhals reared.
a) Sheep
b) Camels
c) Goats
d) cocoons

4. Source Based Question.




Tribal people needed to buy and sell in order to be able to get the goods that were not produce
within the locality. This led to their dependence on traders and money lenders gave loans with
which the tribals met their cash needs, adding to what they earned. But the interest charged on the
loans was usually very high. So for tribals, markets and commerce often meant debt and poverty.
They therefore came to see the moneylenders and traders as evil outsiders and the cause of their
misery.
Q1. Tribal dependend on traders for-

a) Loan

b) Goods not produce within their locality

c) Money

d) To meet their cash needs
Q2. Who were evil outsiders and the cause of misery for tribals?

a) Moneylender

b) Traders

c) Tribal Chiefs

d) BothaandB
Q3. Why tribal see markets and commerce as the reason for poverty and Debt?

a) High interest rate of loans

b) They had to buy goods from market

c) They don’t want to buy and sell in the market

d) They are depended on Moneylenders

5. What was Birsa’s vision of a golden age?

6.How did the powers of tribal chiefs change under colonial rule?

7.Map Skill:
On an outline map of India, mark any one location of the following tribal groups in India.
a) Santhals
b) Gujjars
c) Nagas
d) Bhils
e) Bhotias

GEOGRAPHY CHAPTER-2 (LAND, SOIL, WATER, NATURAL VEGETATION ANDWILDLIFE)
CHOOSE THE CORRECT ANSWER

Question 1: The lowermost layer of the soil is:
A) Weathered rock

B) Parent rock

C) Sub soil

D) None of these
Question 2: Mass movement of rocks down the hills could be a sign of?

A) Landslides
B) Deforestati
onC) Floods

D) Weathering
Question 3: The process of piling up of rocks to prevent water flows is called

A) Rock dam
B) Erosion
C) Mulching

D) Landslides
Question 4: are some of the densely populated regions.

A) River plains



B) Mountains
C) Thick forests

D) Desserts
Question 5: What do you understand by the term CPR?

A. Community property resource

B. Common property resource
C. Common

planning

resource

D. None of these.
Question 6: Which of the following determine the use of land?

A) Soil & topography
B) Climate & vegetation
C) Availability of water

D) All of these
Question 7: The life supporting system is known as

A) Earth

B) Biosphere

C) Ecosystem

D) Vegetation

Question 8: Natural vegetation & wildlife exist only in the narrow zone called.
A)Lithosphere

B) Hydrosphere

C) Atmosphere

D) Biosphere

Question 9: In the coastal and dry regions, rows of trees are planted to check the wind movement to protect
soil cover, this process is known as

A) Strip cropping

B) Contour BARRIERS

C) Terrace cultivation

D) Shelter belts.
Question 10: What determine the thickness of the soil?

A) Time

B) Climate
C) Relief

D) Formation

FILL IN THE BLANKS.

11. The thin layer of grainy substance covering the earth surface is called

12. The breaking up of rocks is known as

13. An international convention has been established that lists several species of animals and
birds in which trade is

14. The color and texture of soil is determined by

15. is growing of different crops in alternate rows.
16. The full form of CITES is

STATE WHETHER THE GIVEN STATEMENT IS TRUE OR FALSE.
17. Plains and valleys are densely populated because of soil fertility.

18. Forest and other vegetation promote surface run off.

19. The convention, CITES lists species which should be traded.

20. Land has same features all over the surface of the earth.



GEOGRAPHY CH 4 - AGRICULTURE

MCQ:-
Q.1 Horticulture means:-
a) Growing of fruits and vegetables b) Primitive farming ¢) Growing of wheat
Q.2Around of Indian population depends on the agriculture.
a) 2/3 b) 1/2 c) 1/5
Jhumming is practiced in ~ India.
a) North East b) South C) west
- Which of the following physical input is required in agriculture?
A) labour B) slope C) Seed D) rainfall
Q 5- Seeds are one of____of agriculture.
A) process
B) output
C) input
Fill in the blanks:
1. _ isthe staple diet of tropical and sub-tropical regions.
2. Wheat is grown in season in India.
3. __ means commercial rearing of silk worms.
4. includes growing of vegetables, flowers and fruits for commercial use.

State True or False:

1. Manufacturing wool is a tertiary activity.

2. Rice is the main crop in intensive subsistence agriculture.
3. Cotton and jute are beverage crops.

4. Jowar, bajra, ragi and sorghum form a group known maize.

ANSWER IN ONE WORD-
1.  Who discovered the Coffee plant?
2. The word agriculture is derived from latin words--------
3. Leading producers of coffee ----
4.  Golden fibre refers to ----
5. Types of farming to meet family needs-----
6.  Which crop is known as the " Golden Fibre".

7. In this type of farming herdsmen move from one place to another place with their animals for fodder
and water.

Chapter 5 Judiciary

Choose the correct option:-

1. Judiciary provides mechanism for resolving disputes between
a. Citizens

b. Citizens & government

C. Two state governments
d. All of these

2. The Supreme Court of India was established in
a. 1950




b. 1949
c. 1962
d. 1980

3. High Courts were first established in which of the three Presidency cities?

d. Punjab, Chandigarh, Madras
b. Bihar, Uttar Pradesh., Haryana
C.Madras, Gujarat, Punjab

d. Calcutta, Bombay, Madras

4, Which states in India share a common High Court?

d. Haryana and Chandigarh

b. Punjab and Haryana

C. Rajasthan and Haryana
d. None of these

5. The courts through which most people interact with are called:

d. National courts

b. Subordinate courts
C. High courts
d. Supreme Court

6. Andhra Pradesh and have a separate High Court from 1 January2019 onwards.

d. Telangana
b. Karnataka
C. Kerala
d. Delhi

1. State whether true or false:

1.

5.

The seven North-Eastern states have a common High Court.

. Once appointed to the office, it is very difficult to remove a judge.

2
3.
4

The judiciary acts as per the wishes of the government.

. A person can appeal to a higher court if they are not happy with thedecision of the lower court. .

Chief Justice of India sits in the Parliament.

111, Answer the following guestions:-

How is the work of the judiciary categorized?

What does an independent judiciary mean?

Which North-Eastern states have a common High Court? Where is itlocated?
Who is the Chief Justice of India? Who appoints the Chief Justice of India?
What are the different levels of courts in our country?

Define the term ‘judicial review’.

Which court is the apex court of India?

What are subordinate courts?

What is the appellate system?
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